NI)LY— )L FE2FFEE X (1:100)

ERAFEBENNY =

Room1 <732 — 4%

L

1500 x 450

7AYVI V32— R0 —VEDEREICKY
FEEDBDTHHEDTENET

S

2000

3000

2000

800

10,620

F=INL W1500 x D450 <>E
FEDE DS il

#EE W1200 x D480

AnEE W600 x D480

AVig{E s W1050 x D700 AV

R—2 T)LXF— W2400 % D1200




NI)LY— )L FE2FFEE X (1:100)

ERAFEBENNY =

Room1 X7 —)b 20F& (1%&#MT)

7AYzI 72— R0 ) -V EDREICKY
FHDRDTEHEDNTEVET

2100

7

2000

i

L

1000

!
b
}

2000

= = O

- 5 T
— = 5 O

= = O

= = O

10,620

F=INL W1500 x D450 <>E
FEDE DS il

#EE W1200 x D480

AnEE W600 x D480
AVig{E s W1050 x D700 AV

R—2 T)ILRF— W2400 % D1200

20,240




